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JL1268 17.20 43% H:18,200, £:14.900
TR CHE) =W RE(HE)E [_JL1681 14,20 61% | H:13.700
JL1685 10! 58% | H:15,600
JL1687 10! 58% | H:15600
NS JL1680 70 62%
JL1682 250 58% | H:14.750
JL1684 570! 57%
JL1686 5,70 57%
& E (PR =ALIR (T TR)| &S = (hED) F [_JL3103 0,60 53%
JL3105 1,60 51% |%+:23,800. H:21,800
JL3107 1,601 % |4 +:23800, H:21,800
JL3115 7.20 % 8,600, H:20,700
JL3117 0 3%
ALIR (F7F %) % [_JL3100 .40 3
JL31 .00
JL31 00! .300, #:21,700. £:21,600, H:23.800
JL 0! .300, #:21,700, £:21,600, H:23.800
JL 00! 1400, 21,700, £:21,800, H:24.700
HER MO =B HEECMO R JL4331 15,50 5
ki JL4336 15,50 50%
HEEUMR) =REXR ZHE (M) F | L4341 17,201 51%
JL4345 14,201 60%
JL4347 14,201 60%
BAR JL4342 14,20 60%
JL4346 16.201 54% i,
JL4348 16.201 54% [ £ H:17.200
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=0] 24 EEE
RECRE) =@ (MH | RREEE [_JLooi 26.300
JL903 27,400
JL905 28,500
JL907 28,500
JL90 28,500
JLo1 26,500
JLO1 000
JL917 000
JLO1 100
JL92 100
JL92 800
JL927 400
B (FRE) F | JL900 500
JL902 600
JL906 600
JLot 600
JLO1 25,500
JLO14 26,000
JLO1 26,000
JL918 26,000
JL920 26,000
JL922 26,000
JL926 200
JL928 600
ABR (BAF) =4LIR (1 Fm) | KBR(B#E)F | _JL2501 700
JL2503 400
JL2505 4,700
JL2507 1,200
ALIE (T F %) % |__JL2500 1.000
JL2502 4,200
JL2514 0,200
JL2518 2,700
KBR (7 =ih#8 (BF) KR (A % [ JL2081 7,400
JL2087 8,200
B (FRFR) F | _JL2084 6.200
JL2088 7,500
R () =% 5] RE(HE)FE [ _JL1183 ,900
JL1189 900
JL1191 900
ES-RIES JL1180 9,400
JL1188 7,500
JL1190 7,500
FRCHE) =)l RE(FE)FE [_JL1103 6,500
JL1107 0,000
JL1113 0,000
JL1115 6,800
JIIES JL1100 7,300
JL1104 6,800
JLi112 5800
JL1116 5800
R CRE) =8Ik RE(HEFE [_JL1145 3,000
JLi147 2700
JL1149 7,100
ElEES JL1144 8,300
JL1146 7,400
JL1148 8,600
HRCAR) =%k Fm CRE)F | _JL1151 7.700
JL1153 7,800
JL1155 7,800
JL1157 9,000
HIRFE JL1152 2.200
JL1154 7,200
JL1156 4,200
JL1158 4,200
FR () =KfE RE(CHE)E [_JLi161 9,000
JL1165 6,400
JL1167 7,500
EiES JL1162 8,400
JL1168 5600
JL1170 17.200
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